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M-2019(SE)/GS-I-B/5 %

THE: 1.

Que.

@vE.- ‘@ /SECTION - ‘B’

9% 03 () 37hi 1 R |

20 words. All questions are compulsory. Each question carries 03 (three) marks.

| W 1§ 15 eI 3999 § | 9w 9o 1 I Afuwan 15 8 20 wedl F 30 2 ) welt we afemd ® | wes

15x3=45

:1. This question contains 15 very short answer type sub-questions. Answer each question in maximum 15 to

T4

1 (1.1)

Uoel werard fohe T W fea R 2
Angel Waterfall is located on which river ?

0

+(1.2)

GTHT T8 HEl a8 2
Where is the Panama Canal located ?

0

:(1.3)

7o 2w & fohm ot €1 & waifus woew 2 2
Which district of Madhya Pradesh has the highest diamond reserves ?

a4

:(1.4)

nen weu % fohm Ff-siemy wew # fafaa v+ afawa sifees 2 2
Which Agro-climatic zone in Madhya Pradesh has higher percentage of irrigated land ?

BEE]

:(1.5)

Ra § 2011 1 ST F AR, R Tsw 1 St ud gy wewar § gaifus s @ ?
According to the Census of India 2011, which State has the highest difference in male
and female literacy ?

9./M=03

./M=03

. /M=03

9./M=03
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QuE. ‘@’ /SECTION - ‘B’
UH:1. 3@ IEH 15 ARl 39w § | 5o 9 % I aftman 15 @ 20 wiedi § 3 2 | |t wen s # ) ves
¥ 03 (T‘ﬁ'-‘l) 3Rl 1 sb' | 15%3=45
Que.:1. This question contains 15 very short answer type sub-questions. Answer each question in maximum 15 to
20 words. All questions are compulsory. Each question carries 03 (three) marks.

e : (1.6) THT T&t % I TS H1 AW ferfgu | 1./M=03
Write the name of the place of origin of Narmada river.
3L WIS
T (17) WEH SeW # GEE GEe st A & tnia - @iE wae o e e g o [RM
Which Kharif crops are insured under Pradhan Mantri Fasal Bima Yojana (PMFBY)
in Madhya Pradesh ? -
THTH
I :
T (1.8) NI Ud wraviiy gerei § I B G- W w01 % 3 ke | s
Write the measures for reclamation of fertility in alkaline and saline soils.
I TS
; q./M=03
T :(1.9) 3fdF T 2021 - 22 % ATAR TR IA1SA § WA YU H 29 H HH-A1 T R 2
What is the rank of Madhya Pradesh in the country according to the production of
foodgrains as per Economic Survey 2021 — 22 ? Tl
3 :
9./M=03
T : (1.10) Y5 YGEUT & Wi HROT T E ?
What are the natural causes of groundwater pollution ?
I : TTHTS
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@ue .- ‘@ /SECTION - ‘B’

TH:1. @ UE d 15 Afiegeeta 399 # | ToE 9 B I SAfw 15 & 20 W&l & 201 B | |l v s § | T

w9 03 () 371 12 | 15%3=45
Que.:1. This question contains 15 very short answer type sub-questions. Answer each question in maximum 15 to

20 words. All questions are compulsory. Each question carries 03 (three) marks.

T : (1.11) AT9ET F1 & ? 9./M=03
What is disaster ?
J: WTHTH
H./M=03
U9 : (1.12) WA % AcAioeh g@n yuifad &5 -8 8 2
What are the extreme drought affected areas of India ?
Il : HTHTS

M=0
¥ : (1.13) TP 3T98T HieA 91 91 8 ? fraas
What is National Disaster Response Force ?
I YTHTS
9. /M=03
U9 : (1.14) W T8 A6, 1984 F S B T w1 g g3 o 2
Which gas was leaked during Bhopal Gas Tragedy, 1984 ?
I :
q./M=03
U9 : (1.15) g &l ¥ yEEer % fore S widfas SR Iaerl B § 2
Which natural factors are responsible for the landslides in mountain regions ?
I .
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@uE.- ‘@’ /SECTION - ‘B’

yw:2.  Trafafe § 3 R 10 v & s sfuman 100 w21 (vas) @ frfan | e wo9 6 (B:) SR w1 2 | 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.
T :(2.1) W TEERY IEN 1 R 2 e TN ¥ Wi Y Ja 0wt e AR | Lo
What is food processing industry ? Describe in brief the food processing industries of
Madhya Pradesh. -
YTHTR
I




IEI..:EEI
M-2019(SE)/GS-I-B/9 g-m

@S - @ /SECTION - ‘B’

wet:2. Tefefaa 3§ @ R 10 T % I sfsan 100 v (ve) § fafEn | w9 91 6 (9:) 3 HR 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.
9./M=06

¥ : (2.2) HRA ¥ Ygiferm Iaren wd faqn @ e fafan |

Write an account of the production and distribution of petroleum in India.

I :
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@vg - ‘@’ /SECTION - ‘B’

ww:2.  Fefafea 4 3 R 10 wo % s sfuman 100 weEi (3@) § faftan | v W 6 () i @R 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.
9./M=06
T 1 (2.3) HEH WeW H ToTEd IUIEHh &l o e A |
Describe the pulse producing areas of Madhya Pradesh.
IW : YTHT
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@vE .- ‘&’ /SECTION - ‘B’

ova:2. Froffed 3§ @ Rl 10 weEi % 3T sftean 100 veE (Seds) A fafge | vl 9 6 (9:) 3wl H R 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.
9./M=06

A : (2.4) WRE § 4 guw ¥q for o wem w7 E 2

What are the steps taken for land reforms in India ?

I

A=
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@UE .- ‘@’ /SECTION - ‘B’

w2, Fefafed 3 8 Rl 10 v % 3w st 100 weEt (v) § fafae | wa@s w9 6 (8:) siF R | 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.
; = = .IM=06
Y 1 (25) WA H g1 weEm 1 FAwe @ faftet v £ a2 o
Which methods are used for soil conservation in India ?
YTHTH

I

-12-
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@vE - ‘@ /SECTION - ‘B’

ww:2.  Fretafed § @ Rl 10 vE $ I afuwan 100 ve3 (v) 3 fflgn | 99F w1 6 (9:) 37 F R 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.
9./M=06

I :(2.6) 94 9 # i & Fna fafEw |

Write the causes of impurities in drinking water.

I ;

-13-
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QUL . ‘@ /SECTION - ‘B’

w2, fefafed 3 8 fedi 10 v % 3w sfusan 100 =i (v3) & fofn | wes w1 6 (3:) s w1 2 | 10%6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.
; 9./M=06
T 1 (2.7) W WeW H ol TUEY Yeeud W fogoft fafau |
Write a note on the watershed management in Madhya Pradesh.
I : STHIH
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@ue - ‘@ /SECTION - ‘B’

2. frfofaa § & R 10 v I sfusan 100 &g (vei) # fafEn | @ v 6 (9:) A F R 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.
9./M=06

99 : (2.8) e wew # = # vk B9 areft 7€ a1 faaor i |

Give an account of the new techniques used in irrigation in Madhya Pradesh.

I
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E:I.n-
Qe - ‘@’ /SECTION - ‘B’
w2 Trafafiea 3 @ R 10 WA F s sifteran 100 o3 (v) # faflau | o w9 6 () S w2 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.
TH :(2.9) WHa fiffa smagnd st § 2 sewew A | Lo
What are man-made disasters ? Give examples.
I ; T
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@ug. ‘& /SECTION - ‘B’

a2, fFafafes § 3 e 10 v & 3@ sifasman 100 =g (vei) @ forfige | oeis woa 6 (9:) 3l 1 R | 10x6=60
Que.: 2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.
- IM=06
T : (2.10) 39S YU % S TEd UG YAaTE HEHa 6l 9= Hifee | k

Discuss the relief and rehabilitation programme during disaster management.

I ;

-17-
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@uE . ‘@’ /SECTION - ‘B’
uw:2. fafefea § @ e 10 o=t & 3w sifasan 100 wedi (v3%) A faflge | v w3 6 (8:) SR F R

10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries

06 (six) marks.

T : (2.11) oS YHH, 2001 & HR0 a1 o fafae |
Write the causes and consequences of Kutch earthquake, 2001.

I :

-18-

9./M=06
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@vus .- ‘@’ /SECTION - ‘B’

ww:2. Frefafies 3 8 Rl 10 w91 F 3w sAfasran 100 v=2i (vds) ¥ foflan | v w9e 6 (8:) 371 #1 2 | 10%6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries
06 (six) marks.
. 9./M=06
T : (2.12) ITES IAHEF 91g, 2013 F HROT q91 g fafage |
Write the causes and consequences of Uttarakhand Flash Flood, 2013.
TTHTH

I :

-19-
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W-‘W/SECTION-‘B’
U:3. 3 U 03 9-UTH &, I W 1 IR AT4ehan 300 edl § 21 2 | |t weA srfard # | v@s v # anafe fawe

oft 2 | arcaeff form ariafter faepen o1 3o 2 @ & Sueh oop 3@ I & "o sfEEa: w1 | T T 15 (I58) SH H
21 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

U9 :(3.1) W Yeu ® € Igm & faa dfvm |

Give an account of the cement industry in Madhya Pradesh.
HYUST/OR
i § wEe & o g 3eamem it s fifsu |

Discuss the distribution and production of coal in India.

9./M=15

-20-
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W-W/SECTION-‘B’
WyT:3. 39 U A 03 I9-9% §, TdE WA 1 I Afuehan 300 wegi § 21 2 | weft wva siframd # | vels uw d i fawen
ot 2 | oreeff o arafe famcy &1 3 2 @ & 359 WP 9@ IW F auy AarE: wi | ISs 9 15 (F58) IAH
2 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

Y99 : (3.1) continued (R1)

-21-



M-2019(SE)/GS-I-B/22

@E . ‘@ /SECTION - ‘B’
U:3. 3@ WA H 03 I9-U B, T U H1 I Afusaq 300 we2 § 2 R | wft wom srfard # | was uwe 1§ srafs famen

oft 2 | sr=edi o sriafe faseu %1 3 2 @ ¥ U e 3P@ I & auy AlERE: H | T8 = 15 (9E8) I H
2l 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

Y9 : (3.1) continued (TR})

<27-
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W-W’/SECHON-‘B’
UST:3. 3@ 9§ 03 I9-9 &, Toish WA 1 I Afereran 300 wegi #H 0 B | Wl woA aiframd # |y we ¥ srahe fasen
oft & | srefl form ariafts faee &1 3 2 @ # 309 T9P 3@ IW & gy AlEEa: F | IS I 15 (F5E) 3l B
2| 3x15=45
Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All

questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

9./M=15

9 :(3.2) YNA ¥ WAl & QSR U9 YRaed dradt qaenet o 3g@ S |

Mention the problems related to storage and transportation of foodgrains in India.
HIAGT/OR

wer weu § yg@ @it % famon ud eared & faa 4 |

Describe the distribution and production of major minerals in Madhya Pradesh.
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Qe .- ‘@ /SECTION - ‘B’
W :3. 3@ W H 03 J9-TH ¥, T W F IR Aluean 300 wegi # 0 B | weht wvw sfrard # | vow vw A i fGwes
i 2 | araeff form oviafe fames &1 3@ 2 @ & Suw we Sg@ I % gug afara: # | v@S 9 16 (958) @l 6
21 3x15=45
Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All

questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

¥ : (3.2) continued (R})

-24-
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@uUE . ‘@ /SECTION - ‘B’
UST:3. 39 Y H 03 I9-UY #, eI W 1 I Aferehan 300 Yeai # 21 R | |t wvA siframd # | wew we d sl fasey
ofi 2 | reaefi fom sviaftes fased #1302 @ ¥ Suen e 33@ I & auy sfara: w | yEs WE 15 (F58) I
21 3x15=45
Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All

questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

97 : (3.2) continued (IR})

-25-
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@UE. ‘@ /SECTION - ‘B’
WA :3. 39 WA H 03 39-U #, TS WA 1 I Aftekan 300 weel 4 2 R | weft wea e € | v v § sviafs fawen
ot B | i o srafe faeu %1 3 2 @ ¥ 3ue e 3@ I & guy AfRERa: F1 | I9F W 15 (58) IFwi H

21 3x15=45
Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.
9./M=15

T :(3.3) Wikfas A it s@uren wit vy i i I edinn F 39 g |
Explain the concept of natural disasters and suggest the measures of mitigation.
HIET/OR
ey oW hi Sl & e i s fifvw |
Discuss the distribution of tribes of Madhya Pradesh.

-26-
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@uE.- ‘@’ /SECTION - ‘B’
WYA:8. 38 W A 03 I9-UYA §, Uk WA 1 I Alkehan 300 e d o1 & | welt wuA arfad # | v weA A svaf e
ot 3 | areaddi fm arafte faees %1 30 2 @ § 309 e 3PE@ IW F GuE AFEEE: B | GHE 999 15 (TEE) i &
21 3x15=45
Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All

questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

97 : (3.3) continued (TR1)

27-



M-2019(SE)/GS-I1-B/28

m-‘a’/SECTION-‘B’
U:3. 39 W A 03 39-9 &, Tod I 1 IR Altehan 300 vl H§ 2 2 | et wen atfad € | v wwm § v faeen
ot & | sl form tiafte fomea %1 3 2 @ ¥ 0 wie 3g@ I & wny afada: w1 | 99 v 15 (9E) &
21 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

X9 : (3.3) continued (TR7)

-28-
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T & 7 A
SPACE FOR ROUGH WORK

-29-
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T &TE g A=
SPACE FOR ROUGH WORK

-30-







